Name___SOLUTISRIS PREAP PRECAC MATH TEAM
SOLUTIONS: Practice Quiz #1 Summer Reading Packet

ﬁ. Using the formulas from the packet, find the sum of the first 20 squares.
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B Using the formulas from the packet, find the sum of 1'+2*+3" +...+15".
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]_3. What kind of conic is represented by this equation?

%xz—élj/+5cy2+6x—7y+8=0
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bmphfy the following trig identities using the identities from your pac T
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17.  What is the equation of the Law of Sines? » 5
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What is the equation of the Law of Cosines?
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. Factor: _ 20. Simp]if;\-':
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Solve using the Quadratic Formula.

3x*-5x+7=0
X
-(-5) = {Cs) -4(3)(4) . 5xy-8%9 _
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22.  Determine what values of k will give the following equation real roots:
2x* —5x—4k =0 b-Hac 2O
z
(-sy-u(¥4) = o
s + 3?&,@15—
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23.  The equation, f(-x)=f(x), is true for _ v Ca functions.
24.  The equation, f(—x)=-/(x). is true for __@f._d ~_ functions,
25.  The equation, f(g(x))=g(f(x))=x, s true for /nveree functions.
f26. What is a formula used to find the n™ term of an Arithmetic Sequence?

t,= t, + (h-nNd

What is a formula used to find the n™ term of an Geometric Sequence?
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What is a formula for the sum of an Arithmetic Sequence?

S.= 5 (6« &)

 29.

What are the two formulas used to find the sum of a finite Geometric Sequence?
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What is the formula used to find the sum of an infinite Geometric Sequence?
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k=1 ; 3 5310
Find the 8" term in the expansion of (2¢*=337)
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‘ 32 Find the area of a sector if the radius of the sector is 10 units, and the angle is 120°
1 ([ looTr 2 120" = £ ot
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133.  Simplify. 34, _ ]
P = W TP (1-10-9
11-3 1173 - -
—_—— = t-te-9 = (99 TN = ffﬂg
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34,  For any two events A and B in a sample space, J
P4+ P(B)-P(4nB)= P (AUB)
35.  the harmonic mean of 10 and 30 is. .. _‘
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[36.  Whatis the length of the latus rectum of the following parabola: J
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37. Given (x25) +{y;65) =1, what is the area of the ellipse?
5 7
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[39.  Simplify.

log, 3+log, 7= log;36-log, 4 =
log_ 21\ loa (32) =\ 1eq 9
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|40 Simplify. 41, Simplify. 42. _ Simplify.
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log,, 9= 1o33q3 e -@ A2 = @ log, 49" =
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43-46. Given the following polynomial, f(x)= 50-3x' +2x° +4x = 7x+12, find the . . .
Sum of the roots: Product of thelroots: Sum of the reciprocals:
V]
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Sum of the squares of the roots: Fives Cs)

b-2ac _(-3) -2(sX2) s - - @
a* - (5}" ! i " E | \"’t

" - " gy 4*.
a, "9 MOCHelm. 477 X

. : _ Yy
47-50. Given the following polynomial, f(x}:h?;ﬁx +3x"+7x"—6x+13, findthe. ..

/
Sum of the roots: Product of the roots: gy, Sum of the reciprocals:
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Sum of the squares of the roots:
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51.  Sum of the measures of interior 52.  Number of diagonals of a
angles of a 12 sided polygon. convex 23 sided polygon.
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[ 54-57. From the number 3780, find the . 2'- 5
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_.number of positive integral delGrS

fake Hre powress ... e 35 X
add Lieencn.. (BN w)(z)@

..sum of the positive integral factors.

<z+z+—-3(3~r5+5+|§(5+ iX"1+'~)

T 4+ &~ §

. number of integral factors.
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...sum of the integral factors.
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|58, Find the sum of the coefficients/numbers in the 12 row of Pascal’s Triangle (this is technically ‘
the 13" row, but since it begins and ends with * 1 12...12 1" we call it the “12 row”). |
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Find the unit's digit of 2%“?
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| 60.

Find the sum of the coefficients (and constants) in the expansionof

(2x3 +4y° =3z +m’ )6
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62.

[61.

Simplify

elsﬂ"i
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What are the first 4 perfect numbers? ‘

C,28, 49¢ B12%
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3. Determine the number of trailing zeros in 2013!
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l 64.  Write the repeating decimal as a simplified fraction:
5.1236 Si123—SI2 50124 1409
9900 99 00 721%



[ 54-57. From the number 3780, find the ... = 2% 2’- SI"'l‘ J

...number of positive integral factors. ... number of integral factors.
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...sum of the positive integral factors. ...sum of the integral factors.
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58.  Find the sum of the coefficients/numbers in the 12 row of Pascal’s Triangle (this is technically
the 13" row, but since it begins and ends with “1 12 ...12 17 we call it the “12 row”).
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7 = Ho4c

59.  Find the unit's digit of 2%%?

azsc.a 3 3
2 & =2

I 60. Find the sum of the coefficients (and constants) in the expansion of

(2x3'+4y5—322+m3)6 -3 (214*3-*5‘5' = "‘i‘ = "{OQE:B

Ié], Simplify 62.  What are the first 4 perfect numbers? 4—‘
e = (a0 1680°+ LgamIO®
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63.  Determine the number of trailing 64. Writi_the repeating decimal as a simplified fraction:
zeros in 2013! 5.1236
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| 65.  Simplify. 66.  Simplify. ]
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